
MatrixForm@N@LinearSolve@m1, p1DDD

1.96667
-0.966667

-1.5
-0.5

-0.633333
1.63333

a = 882, 1, 3, 1, 1<, 81, 1, 4, 1, 3<, 82, 1, -1, 2, 6<, 82, 2, 4, 7, 5<, 81, -1, -3, 2, 1<<

882, 1, 3, 1, 1<, 81, 1, 4, 1, 3<, 82, 1, -1, 2, 6<, 82, 2, 4, 7, 5<, 81, -1, -3, 2, 1<<

In[369]:= MatrixForm@aD

Out[369]//MatrixForm=
2 1 3 1 1
1 1 4 1 3
2 1 -1 2 6
2 2 4 7 5
1 -1 -3 2 1

d = 881<, 814<, 810<, 810<, 814<<

881<, 814<, 810<, 810<, 814<<

In[370]:= MatrixForm@dD
Out[370]//MatrixForm=

1
14
10
10
14

In[371]:= MatrixForm@N@LinearSolve@a, dDDD

Out[371]//MatrixForm=
1.01799
-19.0036
4.11151
0.679856
4.95324

In[372]:= m = 883, -1, 0, -1, -1, 0<, 8-1, 3, 0, -1, 0, -1<, 80, 0, 3, -1, -1, -1<,
8-1, -1, -1, 3, 0, 0<, 8-1, 0, -1, 0, 3, -1<, 81, 1, 1, 1, 1, 1<<

Out[372]= 883, -1, 0, -1, -1, 0<, 8-1, 3, 0, -1, 0, -1<, 80, 0, 3, -1, -1, -1<,
8-1, -1, -1, 3, 0, 0<, 8-1, 0, -1, 0, 3, -1<, 81, 1, 1, 1, 1, 1<<

MatrixForm@mD

3 -1 0 -1 -1 0
-1 3 0 -1 0 -1
0 0 3 -1 -1 -1
-1 -1 -1 3 0 0
-1 0 -1 0 3 -1
1 1 1 1 1 1



In[373]:= p = 888<, 8-6<, 8-5<, 8-1<, 8-4<, 80<<

Out[373]= 888<, 8-6<, 8-5<, 8-1<, 8-4<, 80<<

In[374]:= MatrixForm@N@LinearSolve@m, pDDD

Out[374]//MatrixForm=
1.96667

-0.966667
-1.5
-0.5

-0.633333
1.63333

c = 885, -1, 0, -1, -1, 0<, 8-1, 5, 0, -1, 0, -1<, 80, 0, 5, -1, -1, -1<,
8-1, -1, -1, 5, 0, 0<, 8-1, 0, -1, 0, 5, -1<, 80, -1, -1, 0, -1, 5<<

885, -1, 0, -1, -1, 0<, 8-1, 5, 0, -1, 0, -1<, 80, 0, 5, -1, -1, -1<,
8-1, -1, -1, 5, 0, 0<, 8-1, 0, -1, 0, 5, -1<, 80, -1, -1, 0, -1, 5<<

MatrixForm@cD

5 -1 0 -1 -1 0
-1 5 0 -1 0 -1
0 0 5 -1 -1 -1
-1 -1 -1 5 0 0
-1 0 -1 0 5 -1
0 -1 -1 0 -1 5

b = 885 ê 2<, 81 ê 2<, 8-1 ê 2<, 81 ê 2<, 81 ê 2<, 85 ê 2<<
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In[375]:= MatrixForm@bD
Out[375]//MatrixForm=

5
2
1
2

- 1
2
1
2
1
2
5
2

In[376]:= MatrixForm@N@LinearSolve@c, bDDD
Out[376]//MatrixForm=

0.760714
0.475

0.210714
0.389286
0.439286
0.725
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